Operations On Algebraic Expressions
Ex 6B

Q1

Answer:

By horizontal method:
(52 +7) x (3z+4)
=5z(3x +4) + 7(3z +4)

= 1522 + 20z + 21z + 28
=15z2 + 41z + 28

Q2

Answer:

By horizontal method:

(42 +9) x (z —6)
=dz(z —6) +9(z — 6)
= dg? — 24z + 9z — 54
—=4z% — 15z — 54

Q3

Answer :

By horizontal method:

(22 +5) x (42 —3)

= 2z(4z — 3) + 5(4x — 3)

=8z% — 6z +20x — 15
=8z +14x — 15

Q4



Answer :

By horizontal method:

(v —8) x (5y-1)
=3y(5y—1) — 8(5y—1)
=15y> — 3y — 40y + 8
=15y° — 43y +8

Q5

Answer :

By horizontal method:

(7z +2y) x (= + 4y)

= Ta(x + 4y) + 2y(z + 4y)
= Ta® + 28zy + 2zy + 8y’
=T7z? + 302y + 8y’

Qo6

Answer :

By horizontal method:

(9z + 5y) x (4= + 3y)

9z (4 + 3y) + Sy(4z + 3y)

= 3627 + 27zy + 20zy + 1547
= 3622 + 47zy + 1597
Q7

Answer :

By horizontal method:

(3m —4n) x (2m — 3n)
=3m(2m — 3n) — 4n(2m — 3n)
= 6m” — Omn — 8mn + 12n®

= 6m? — 17Tmn + 12n?

Q8

Answer :

By horizontal method:

(z? —a?) x (z —a)
=z’(z —a) —a’(z —a)

—z'—az® —a’z+a*

ie (z¥ +a’) —az(z —a)

Q9

Answer :

By haorizontal method:

(2 —v%) x (z+2y)
=z?(z +2y) — y*(z +2y)

=z’ 4 22y —xyt — 2
ie(z® —2°) + zy(2z — )

Q10



Answer:

By horizontal method:

(307 +¢%) x (20" — 3¢?)
=3p* (20" — 3¢°) +¢*(20° — 3¢*)
= 6p* —9p’¢” +2p°¢" — 3¢*
i.ebp' — TpPq® — 3¢*

Q11

Answer:

By horizontal method:

(227 — 59°) x (2® +37)

=227 (2% 4 3y%) — 5y*(2? + 3y%)
= 2z* + 62%y? — 52%y® — 15y
=2z* + z%9° — 159*

Q12

Answer:

By horizontal method:

{2:3 _ya) % {m2+y2}
=33(Ez +y2)—y3(1:2 +y2J
I R

(= ~v") + 2’y (z )

Q13

Answer :

By

horizontal method:

(@* +9') x (&% — )

- (zz _ yz) oyt (zz _ yz)

=z° -2y +yte’ o
_ {.Tﬂ _,yﬂ) o z2!}2 (32 . y2)
Q14

Answer:

By horizontal method:

Q15

Answer:

By horizontal method:

(&~

3x+7) x (2x+3)

=2zx(x® -3z +7) +3(z* — 3z +7)

=2z
=2z°

Q16

— 6z + 14z + 32 — 9z + 21
— 3z + 5z +21



Answer :

By horizontal method:

(3z* + 5z —9) x (3z —5)

= 3z(3z* + 5z — 9) — 5(3z% + 5z - 9)

=0z + 152% — 27Tz — 152> — 25z + 45
=0z% — 52 + 45

Q17

Answer:

By horizontal method:

(2% —zy+y%)  (z +y)

=z(z* —zy+97) +y(2* —zy+97)
=z’ —2ly+ vz iy -+
4P

Q18

Answer :

By horizontal method:

(#* +ay +9°) x (z—y)
z(z? + zy+1°) —y(z* +zy +97)
=z +:B'Zy+::y2 —a:zy—:r'yz —y3

—gt P

Q19

Answer:

By horizontal method:

(z* —22% +5) x (4 —1)

=dz(z® — 22 +5) — 1(z* — 22* +5)
=4z* —8z° 4+ 20z — 2%+ 222 -5
=4z* -9z + 222 4+ 202 -5

Q20

Answer:

By horizontal method:

(92? —z +15) x (z* —3)

=z?(92* —z +15) — 3(9z* —x +15)
=0z* — 23+ 1522 — 2722 4+ 3z — 45
=0z* — 1% 1222+ 3z — 45

Q21

Answer:

By horizontal method:

(z* — 5z +8) x (2% +2)

=z?(z* — 5z +8) +2(2* — 5z +8)
=z* — 525+ 8z? + 227 — 10z + 16
=z* - 523+ 10z? — 10z + 16

Q22

Answer:

By horizontal method:

(z* —5a? + 3z + 1) x (2 - 3)
=z?(z® —52° + 3z + 1) — 3(z® —52° + 3z +1)

=gz° -5z +3z% + 22 — 323 + 1522 -0z — 3
=g° -5z +16z2 -0z —3



Q23

Answer:

By horizontal method:

(3z+2y—4) x (z—y+2)
c(3z+2y—4) —y(3z+2y—4) +2(3z+2y—4)
=327 + 2zy — dz — Jzy—2° + dy+ bz + 4y — 8
=32 -2y —zy+22+8y—8
Q24

Answer :

By horizontal method:

(z? — bz +8) x (2 +2z—3)
= z?(z* — 5z + 8) + 2z (z* — 5z + 8) — 3(x* — 5z +8)

=z* — 5z% 4 822 + 2% — 10x? + 16z — 3z2 + 15z — 24
=z* -3z — 5z + 31z — 24

Q25

Answer:

By horizontal method:

(227 + 3z —7) x (32® — 5z +4)
=2z%(32” — 5z +4) + 3x(32® — 52+ 4) — 7(32” — 5z +4)

= 6z* — 102> + 8z* +9z* — 1522 4 12z — 2122 + 35z — 28
= 6z* —z° — 2822 447z — 28

Q26

Answer:

By horizontal methoad:

(92 —z +15) x (z? —z —1)

=z?(92* —z +15) —z(9z? —x +15) — 1(9z? —x + 15)
=0zt — 23+ 1522 — 923 + 22 — 15z —9z2 +x - 15
=0z —10z® + 722 — 14z — 15



